Dividing Money (A)

—

i

10.

Calculate each quotient.

47 $1975.88 2. 63) $2172.24 3. 93) $4291.02
53 ) $3350.66 5. 34) $1322.60 6. 93) $6362.13
80 ) $5624.00 8. 22) $1149.72 9. 18 $1229.22

If 44 identical lanterns cost $979.88, how much did each lantern cost?
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Dividing Money (A) Answers

10.

$ 42.04

47) $1975.88
—$1880.00

$95.88
—$94.00

$1.88
—$1.88

$0.00

$ 63.22

53 ) $3350.66
—$3180.00

$170.66
—$159.00

$11.66
—$10.60

$1.06
—$1.06

$0.00

$ 70.30

80 ) $5624.00

—$5600.00

$24.00
—$24.00

$0.00

Calculate each quotient.

$ 34.48

63) $2172.24
—$1890.00

$282.24
—5§252.00

$30.24
—$25.20

$5.04
—$5.04

$0.00

$ 38.90

34 ) $1322.60
—$1020.00
$302.60
—$272.00
$30.60
—$30.60

$0.00

$ 52.26

22 ) $1149.72
—$1100.00
$49.72
—$44.00
$5.72

—$4.40

$1.32

—$1.32

$0.00

3.

6.

$ 46.14
93 ) $4291.02
—$3720.00

$571.02
—$558.00

$13.02
—3$9.30

$3.72
—3$3.72

$0.00

$ 68.41

93 ) $6362.13
—$5580.00

$782.13
—$744.00

$38.13
—$37.20

$0.93
—3$0.93

$0.00

$ 68.29
18 ) $1229.22
—$1080.00

$149.22
—$144.00

$5.22
—$3.60

$1.62
—$1.62

$0.00

If 44 identical lanterns cost $979.88, how much did each lantern cost?

$22.27
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